PR Received dated 10 OCT 2016 - 16 OCT 2016

Offices Supplies & Consumble Parts

Post Dated 17 OCT 2016

Serial PR No. 2L Item Code PR Line Description PR Qty Unit Buyer Bu_yer EMAIL ADDRESS PR Status S EE
Date site Dated
1 11609027 10-Oct-2016 CONZZ05908 |ETHANOL 8.00( Bottle MONTHATONG, MISS AREERAT BSP AreeratM@ssi-steel.local INCOMPLETE 24-0ct-2016
2 11609029 10-Oct-2016 CONZZz15178 |ISOPROPYL ALCOHOL 2PROPANOL 1.00 Pail MONTHATONG, MISS AREERAT BSP AreeratM@ssi-steel.local INCOMPLETE 24-0ct-2016
3 11608793 15-Oct-2016 CONZZ19080  |uWuin3o& 1.00[ Each MONTHATONG, MISS AREERAT BSP AreeratM@ssi-steel.local INCOMPLETE 24-0ct-2016
4 11609287 11-Oct-2016 STA1000068 |RIBON CARTRIDGE NO.7753 FOR PRINTER EPSON 300 2.00| Each MONTHATONG, MISS AREERAT BSP AreeratM@ssi-steel.local INCOMPLETE 24-0ct-2016
5 11609286 11-Oct-2016 STA1000947 |TONER LASERJET 1010  #02Q2612A 1.00 box MONTHATONG, MISS AREERAT BSP AreeratM@ssi-steel.local INCOMPLETE 24-0ct-2016
6 11609286 11-Oct-2016 STA1004249 |TONER HP LASER JET 1536 DNF CE278A/78 2.00( Each MONTHATONG, MISS AREERAT BSP AreeratM@ssi-steel.local INCOMPLETE 24-0Oct-2016
7 11609286 11-Oct-2016 STA1004263  [TONER CARTRIDGE RICOH SP 311HS 1.00 box MONTHATONG, MISS AREERAT BSP AreeratM@ssi-steel.local INCOMPLETE 24-0ct-2016
8 11609028 10-Oct-2016 STA4001199  |GRAPHITE CRUCIBLE 1.00 box MONTHATONG, MISS AREERAT BSP AreeratM@ssi-steel.local INCOMPLETE 24-0ct-2016
9 11609026 10-Oct-2016 CONZZ12302 |PAIRS BLADE FOR SHAERING MACHINE CM 500 FEMAS 1.00| PIECES JANTHAWEE, MISS JARIYAPORN BSP jariyapornja@ssi-steel.com INCOMPLETE 24-0ct-2016
10 11609228 11-Oct-2016 CONZZ18442 |STEEL STRAPPING STANDARD COIL UNPAINT(Litn&aug) 40,000.00( Kilograms | JANTHAWEE, MISS JARIYAPORN BSP jariyapornja@ssi-steel.com INCOMPLETE 24-0ct-2016
11 11604564 10-Oct-2016 CONZZ22744 |RECORDER PEN CHART TYPE MICRO R1000(B9902AN GREEN) 18.00( Each JANTHAWEE, MISS JARIYAPORN BSP jariyapornja@ssi-steel.com INCOMPLETE 24-0Oct-2016
12 11609366 15-Oct-2016 CONZZ24031 |PREMIUM TRANSFER RIBBON PART NO.A102-200-0 50.00| Each JANTHAWEE, MISS JARIYAPORN BSP jariyapornja@ssi-steel.com INCOMPLETE 24-0ct-2016
13 11609105 10-Oct-2016 CONZZ25516 |HEAT RESISTANCE FABRIC ALPHA-SIL(GF-1000)1.8x3 M 24.00( Each JANTHAWEE, MISS JARIYAPORN BSP jariyapornja@ssi-steel.com INCOMPLETE 24-0ct-2016
14 11609062 11-Oct-2016 CONZZz29077 |CATALYST RESIN COBALT OCTOATE 10 % 5.00( Kilograms | JANTHAWEE, MISS JARIYAPORN BSP jariyapornja@ssi-steel.com INCOMPLETE 24-0ct-2016
15 11609156 10-Oct-2016 CONZZ29413 %%'SOZ%LTZSJEEYPS WEBBING SLING 4 TON (WLL 4T) LENGTH = 4 M. 2.00( Each JANTHAWEE, MISS JARIYAPORN BSP jariyapornja@ssi-steel.com INCOMPLETE 24-0ct-2016
16 11609177 11-Oct-2016 STA9999999 Favindauiain Tasen1s Zero Accident TFuwiTnuLasHFULN 1,450.00 Each JANTHAWEE, MISS JARIYAPORN BSP jarivapornja@ssi-steel.com INCOMPLETE 24-0ct-2016
17 11609268 11-Oct-2016 CONAZ06353 |GRINDING WHEELS TYPE 27 SPEC A 24 R DIA.100x16x4 mm. (SSM) 300.00| Each CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 24-0Oct-2016
18 11609073 10-Oct-2016 CONZZ06400 |ABRASIVE COATED NO.80 DIA.100x16 mm.(DISK COAT) 60.00| Each CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 24-0Oct-2016
19 11609139 10-Oct-2016 CONZZ06410 |ZE-NOX DEGREASE&CLEANER B19, 20 OZ/CN 6.00[ Can CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 24-Oct-2016
20 11609200 11-Oct-2016 CONZZ06430 |ENAMEL PAINT BLUE #705 (3.500 LT.) 25.00| GALLON CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 24-0ct-2016
21 11609076 10-Oct-2016 CONZZ06436 |ENAMEL PAINT GREEN #605 (3.5 LT.) 24.00| GALLON CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 24-0ct-2016
22 11609196 11-Oct-2016 CONZZ06463 |GRINDING WHEELS TYPE 27 SPEC A24 R SIZE 100x2x16 mm. "SSM" 450.00( Each CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 24-Oct-2016
23 11609197 11-Oct-2016 CONZZ06471 |GRINDING WHEELS TYPE 27 SPEC A C 60 SIZE 180x2x22 mm. "SSM" 150.00f Each CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 24-Oct-2016
24 11609198 11-Oct-2016 CONZZ06473 |LIQUID GASKET TREEBOND 1104 200 G. 6.00| TUBE CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 24-0Oct-2016
25 11609199 11-Oct-2016 CONZZ06700 |TEFLON (10M X 12MM)  (THAI PIPE JORE-TEX) 140.00| Roll CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 24-0ct-2016
26 11609125 10-Oct-2016 CONZZz14563 |BLIND RIVET CODE 5-6  SIZE 5/32"-1/2" 1.00 box CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 24-0ct-2016
27 11609124 10-Oct-2016 CONZZ14715  |LIQUID CLEANER (400 ml.) "thenaraidu" 10.00| Bottle CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 24-0ct-2016
28 11609121 10-Oct-2016 CONZZ14824 gb’;EEgSETL\éSF,E‘L%ORN\?E?_QSLKEET P/N.4 (WHITE COLOR) ""THREE BOND 30.00| TUBE CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 24-0ct-2016
29 11609115 10-Oct-2016 CONZzZz18552 |GRIP HOSE D.13-16 MM 25.00| Each CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 24-0ct-2016
30 11609143 10-Oct-2016 CONZZz28921 |NYLON FABRIC (POLYURETHANE-COATED) SIZE 1.8x64M. 5.00| Roll CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 24-0ct-2016
31 11609192 11-Oct-2016 CONAZ13657 |HYDRAULIC FILTER FILTER  NO.CF135-2A1DNA""PARKER"" FOR FANTUZZI 2.00( PIECES SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 24-0ct-2016
32 11609072 10-Oct-2016 CONZZ00189 |FUSE GLASS 2 A. 250 V. 5x20 100.00f Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 24-0ct-2016

Page 1 of 4




PR Received dated 10 OCT 2016 - 16 OCT 2016

Offices Supplies & Consumble Parts

Post Dated 17 OCT 2016

Serial PR No. 2L Item Code PR Line Description PR Qty Unit Buyer Bu_yer EMAIL ADDRESS PR Status S EE
Date site Dated
33 11608904 11-Oct-2016 CONZZ00851 |FLOOD LIGHT CON-TEMPO 250 W 220 V. WITH LAMP HPI-T 250 W. PHILIPS 1.00| Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 24-0ct-2016
34 11609193 11-Oct-2016 CONZZ01902 |FILTER P/N 1R-0719 FOR TRANSMISSION OF KRESS 20.00| Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 24-0ct-2016
35 11609194 11-Oct-2016 CONZZ01954 EIFL_TGE:;SO)Itgsﬁ';inlssjfsos'\;gs5(;?59&5?8;'2"'350'\') OR (FLEETGUARD P/N 6.00| Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 24-0ct-2016
36 11609195 11-Oct-2016 CONZZ01985 E%ESSR ELEMENT TYPE P/N 1R-0732(OLD 710670) FOR HYD.SYSTEM OF 4.00| Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 24-0ct-2016
37 11609069 10-Oct-2016 CONZZ08602 |CABLE SIZE 3x2.5 SQMM. TYPE VCT 100.00( Metres SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 24-0ct-2016
38 11609127 11-Oct-2016 CONZZ08883 |FUSE GLASS 1 A. gI250 V. 6.3x32 20.00| Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 24-0ct-2016
39 11609233 11-Oct-2016 CONZZ09161 |CABLE TIES CT-340-7  LONG = 340 MM.( 13 1/2") 400.00 Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 24-0Oct-2016
40 11609128 10-Oct-2016 CONZZ09445 E)I;AEXINI'_I'IL(J;ZI-IZTI 24V DIA.100 MM. MODEL LFK-245-Y FOR OPERATION SAFETY 2.00| Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 24-0Oct-2016
41 11608929 11-Oct-2016 CONZZ10055 |RAIN TIGHT FLEXIBLE ~ CONDUIT 1 1/2" (GRAY) 15.00 Metres SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 24-0Oct-2016
42 11609231 11-Oct-2016 CONZzZ14281 |FILTER FUEL P/N FF5052 FOR ENGINE COMMINS 4.00| Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 24-0Oct-2016
43 11609230 11-Oct-2016 CONZZ14282  |FILTER OIL P/N LF3000 FOR ENGINE COMMINS 2.00| Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 24-0ct-2016
44 11609122 10-Oct-2016 CONZZ14668 |BALLAST TYPE BSN40OW L300I FOR SON 400W 220V """"PHILIPS"""" 10.00( Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 24-0ct-2016
45 11609123 10-Oct-2016 CONZZ14689 |STOP LIGHT 24V FOR FANTUZZI 2.00[ Set SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 24-0ct-2016
46 11609119 10-Oct-2016 CONZZ16683 |CLAMP HOSE 1 3/4""-2 5/8"" P/N 5P0597 (STAINLESS) FOR FANTUZZI 4.00| Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 24-0ct-2016
47 11609227 11-Oct-2016 CONZZ19923  |RELAY 24VDC 20A 5 LEGS (1NO+1NC) (2 aauuna) FOR VEHICLE 2.00| Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 24-0ct-2016
48 11609262 11-Oct-2016 CONZZ30191 (F)é;;':IER P/N.YM129150-35152-T FOR KOMATSU FORKLIFT MODEL 1.00| Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 24-0ct-2016
49 11609263 11-Oct-2016 CONZZ30192 EgE{HIIgENToZELYFlle?o?rl-ig_55850-T (YM129901-55850-T) FOR KOMATSU 1.00| Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 24-Oct-2016
50 11609264 | 11-Oct-2016 | CONZZ30193 ;%TDEEFE (F‘é33%)TZZ'3OB'13'11390 (3EB-15-41510) FOR KOMATSU FORKLIFT 1.00| Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 24-Oct-2016
51 11609265 11-Oct-2016 CONZZ30194  |FILTER P/N.YM129052-55630 FOR KOMATSU FORKLIFT MODEL FD30T-16 1.00| Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 24-0Oct-2016
52 11609269 11-Oct-2016 CONZZ31247 |tasamedan wue 50 mm.(d2e+6usia) MODEL P50+S50 "SUMO"" 6.00| Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 24-0ct-2016
53 11609160 10-Oct-2016 CONAZ00003 |COTTON RAGS DIM.18x18 CM. WEIGHT 1KG.=17fu (25 KGS./BAG) 950.00| Kilograms PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 24-0ct-2016
54 11609234 11-Oct-2016 CONZZz09232 |COTTON GLOVE 5,000.00( PAIR PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 24-0ct-2016
55 11609116 10-Oct-2016 CONZZ18501 |RUBBER GLOVE PVC SIZE:LL a12 30 CM (TOWA 656) 300.00| PAIR PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 24-0ct-2016
56 11609104 10-Oct-2016 CONZZ27856 |BARRICADE TAPE SIZE 75 mmx500 M COLOR (RED/WHITE) (a15tvl2n2-uag) 5.00[ Roll PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 24-0ct-2016
57 11609163 10-Oct-2016 CONZZ30639 |qouez auia 18"X20" & 20.00| Kilograms PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 24-0ct-2016
58 11609337 15-Oct-2016 STA1004060 |TONER CARTRIDGE Q5949A 2.00| Each PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 24-Oct-2016
59 11609044 11-Oct-2016 STA2000152 auuasauna g AL au1a 36"x45" 300.00( Kilograms PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 24-0ct-2016
60 11609044 11-Oct-2016 STA2000386  |aoaay e 18"x20" 100.00( Kilograms PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 24-Oct-2016
61 11609044 11-Oct-2016 STA2000539  |quaawsin  30x40 400.00| Kilograms PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 24-0ct-2016
62 11609044 11-Oct-2016 STA2000740  |qousysin 24x28" 300.00( Kilograms PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 24-0ct-2016
63 11609061 10-Oct-2016 STA4000355  |BATTERY 1.5V RECHARGEABLESIZE.AA 8.00| Each PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 24-0ct-2016
64 11609186 10-Oct-2016 STA4006778 azunsofunduaauasuuLbifingdsy aue 2 6 PM640Z1P (HM) 7.00 Set PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 24-0Oct-2016

Page 2 of 4




PR Received dated 10 OCT 2016 - 16 OCT 2016

Offices Supplies & Consumble Parts

Post Dated 17 OCT 2016

Serial PR No. 2L Item Code PR Line Description PR Qty Unit Buyer Bu_yer EMAIL ADDRESS PR Status S EE
Date site Dated
65 11609186 10-Oct-2016 STA4006779 ATUNTIAUNAURLAWAN e 2 - 3 ) PM642Z2P (HM) 22.00 Set PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 24-0Oct-2016
66 11609047 10-Oct-2016 STA8888888 azndla  (Aanssuidautnusnuduiug) 20.00 Each PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 24-0Oct-2016
67 11609180 10-Oct-2016 STA1000040 POST-IT 12.00 Pack PROMCHAN, MR. SIRICHAI BKK SirichaiPr@ssi-steel.com INCOMPLETE 24-0ct-2016
68 11609180 10-Oct-2016 STA1000251 ihnnmasviauugy  Rudav 24.00 Each PROMCHAN, MR. SIRICHAI BKK SirichaiPr@ssi-steel.com INCOMPLETE 24-0ct-2016
69 11609180 10-Oct-2016 STA1000253 ihnanmasviauuae  uuy 24.00( Each PROMCHAN, MR. SIRICHAI BKK SirichaiPr@ssi-steel.com INCOMPLETE 24-0ct-2016
70 11609325 10-Oct-2016 STA1000266 A 2 Wi aded aune 1" (adeuu) 2.00 Roll PROMCHAN, MR. SIRICHAI BKK SirichaiPr@ssi-steel.com INCOMPLETE 24-0Oct-2016
71 11609180 10-Oct-2016 STA1000500 gfasnl  No.600 24.00 Each PROMCHAN, MR. SIRICHAI BKK SirichaiPr@ssi-steel.com INCOMPLETE 24-0Oct-2016
72 11609180 10-Oct-2016 STA1000501 wilduuilenaas 36.00 Each PROMCHAN, MR. SIRICHAI BKK SirichaiPr@ssi-steel.com INCOMPLETE 24-0Oct-2016
73 11609180 10-Oct-2016 STA1000503  |ululasmdu 50.00f  box PROMCHAN, MR. SIRICHAI BKK SirichaiPr@ssi-steel.com INCOMPLETE 24-0Oct-2016
74 11609180 10-Oct-2016 STA1000569 |sufauid 1.00| box PROMCHAN, MR. SIRICHAI BKK SirichaiPr@ssi-steel.com INCOMPLETE 24-0Oct-2016
75 11609180 10-Oct-2016 STA1000572 wdnWunszae e A4 400.00| Each PROMCHAN, MR. SIRICHAI BKK SirichaiPr@ssi-steel.com INCOMPLETE 24-Oct-2016
76 11609181 10-Oct-2016 STA2000364 enanse 24.00| Kilograms PROMCHAN, MR. SIRICHAI BKK SirichaiPr@ssi-steel.com INCOMPLETE 24-0Oct-2016
77 11609180 10-Oct-2016 STA2000537 aufaudn SIZE(AA) 1.00 box PROMCHAN, MR. SIRICHAI BKK SirichaiPr@ssi-steel.com INCOMPLETE 24-0Oct-2016
78 11609179 10-Oct-2016 STA2000539 auuazen 30x40 30.00] Kilograms PROMCHAN, MR. SIRICHAI BKK SirichaiPr@ssi-steel.com INCOMPLETE 24-0ct-2016
79 11609183 10-Oct-2016 STA2000568 213U 20.00 Each PROMCHAN, MR. SIRICHAI BKK SirichaiPr@ssi-steel.com INCOMPLETE 24-0ct-2016
80 11609183 10-Oct-2016 STA2000569 e 24.00 Each PROMCHAN, MR. SIRICHAI BKK SirichaiPr@ssi-steel.com INCOMPLETE 24-0ct-2016
81 11609183 10-Oct-2016 STA2000695 wanuW  nxage 24.00 box PROMCHAN, MR. SIRICHAI BKK SirichaiPr@ssi-steel.com INCOMPLETE 24-0Oct-2016
82 11609183 10-Oct-2016 STA2000971 panfla( wuuge ) 24.00 Each PROMCHAN, MR. SIRICHAI BKK SirichaiPr@ssi-steel.com INCOMPLETE 24-0Oct-2016
83 11609179 10-Oct-2016 STA4006458 a1 fva ladawan 3.8 &a5 (wuuunanau) 6.00 Each PROMCHAN, MR. SIRICHAI BKK SirichaiPr@ssi-steel.com INCOMPLETE 24-0Oct-2016
84 11607117 11-Oct-2016 CONZZz06783 BOLT&NUT HEX.HEAD M10-1.5x100 mm.#CLASS 8.8 54.00 Set SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 24-0Oct-2016
85 11609070 10-Oct-2016 CONZZz08030 BOLT&NUT HEX. HEAD M24-3x160 mm (CLASS 8.8) 20.00 Set SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 24-0Oct-2016
86 11609126 10-Oct-2016 CONZZz11918 NUT HEX. STAINLESS STEEL M16-P.2 70.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 24-0Oct-2016
87 11609120 10-Oct-2016 CONZZz15323 SOCKET HEAD CAP SCREW  M5-0.8x20 (MET.STAINLESS) 30.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 24-0Oct-2016
88 11609113 11-Oct-2016 CONZZz18716 SOCKET HEAD CAP SCREW  M8-1.25x35(MAT.STAINLESS) 100.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 24-0Oct-2016
89 11609114 10-Oct-2016 CONZZz18718 FS{8$KET HEAD CAP SCREW  M10-1.5x35 (MAT.STAINLESS) FOR MOTOR 50.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 24-0ct-2016
90 11609111 10-Oct-2016 CONZZ19682 PIPE CLAMP ALUMINIUM (HEAVY SERIES)FOR PIPE OD.42 mm. 5.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 24-0Oct-2016
91 11609112 10-Oct-2016 CONZZ19683 PIPE CLAMP ALUMINIUM (HEAVY SERIES)FOR PIPE OD.33.7 mm. 5.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 24-0Oct-2016
92 11609110 10-Oct-2016 CONZZ20006 PIPE CLAMP ALUMINIUM (HEAVY SERIES)FOR PIPE OD.60.3 mm. 5.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 24-0Oct-2016
93 11607428 10-Oct-2016 CONZZ20157 U-BOLT WITH NUT,WASHER DIA.2 1/2"#END THREAD M12 40.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 24-0ct-2016
94 11609108 10-Oct-2016 CONZzZz21690 STEEL ADJUSTABLE SWIVEL ELBOW EWS8LREDCF (WITH SWIVEL NUT) 60.00 Set SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 24-Oct-2016
95 11607670 10-Oct-2016 CONZzZz21783 TIE-ROD (CLASS#10.9) G05710 POS.21 (S87827rev.a) COMP. WITH NUT 4.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 24-0ct-2016
96 11609107 10-Oct-2016 CONZzZz21783 TIE-ROD (CLASS#10.9) G05710 POS.21 (S87827rev.a) COMP. WITH NUT 1.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 24-0Oct-2016

Page 3 of 4




PR Received dated 10 OCT 2016 - 16 OCT 2016

Offices Supplies & Consumble Parts

Post Dated 17 OCT 2016

Serial PR No. 2L Item Code PR Line Description PR Qty Unit Buyer Bu_yer EMAIL ADDRESS PR Status S EE
Date site Dated
97 11609106 10-Oct-2016 CONZZz21972 SOCKET HEAD CAP SCREW  M6x1.0x35MM(STAINLESS) 20.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 24-0Oct-2016
98 11609103 10-Oct-2016 CONZZz28339 gE;@i‘?;;gLNLG 1/8"" (STEEL STRAIGHT PIPE) FOR GREASE SYSTEM 110.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 24-0ct-2016
99 11609063 11-Oct-2016 CONZZz28403 FLAT WASHER M16 (MAT.STAINLESS) 400.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 24-0Oct-2016
100 11609256 11-Oct-2016 CONZZz29267 ESISIP;EITZHEX'HEAD CAP SCREW M24-3x80 MM #12.9 FOR PAY OFF 20.00 Set SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 24-0ct-2016
101 11609164 10-Oct-2016 CONZZ30975 OIL FILTER ELEMENT/2ACII "INGERSOLAND" CNN#67902965 2.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 24-0Oct-2016
102 11608215 10-Oct-2016 CONZZ31923 WIRE ROPE CLAMPS 3 MM.GALVANIZED STEEL & wsulau'lW HIGH BAY 200.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 24-0Oct-2016
103 11608215 10-Oct-2016 CONZZz31924 WIRE ROPE SLING DIA. 2 MM. &usutleulW HIGH BAY 200.00| Metres SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 24-0Oct-2016

Page 4 of 4




